تحويل الاعداد الكسرية الى نسبة مئوية:
                      ___  =  
[image: image1.wmf]100

2

5

                   ___  =  
[image: image2.wmf]100

40

2

                    ___  =  
[image: image3.wmf]100

2

1


          ___  =  
[image: image4.wmf]100

1

6

                   ___  =  
[image: image5.wmf]100

4

8

                    ___  =  
[image: image6.wmf]100

30

6


___  =  
[image: image7.wmf]100

60

12

                   ___  =  
[image: image8.wmf]100

15

9

                    ___  =  
[image: image9.wmf]100

35

8


تحويل الاعداد الكسرية الى نسبة مئوية:

        ___  =  
[image: image10.wmf]10

6

2

                      ___  =  
[image: image11.wmf]20

2

1

                     ___  =  
[image: image12.wmf]50

1

4


___  =  
[image: image13.wmf]20

4

2

                      ___  =  
[image: image14.wmf]25

5

5

                     ___  =  
[image: image15.wmf]50

3

4


___  =  
[image: image16.wmf]10

2

4

                      ___  =  
[image: image17.wmf]100

68

2

                     ___  =  
[image: image18.wmf]10

3

1


_1343369883.unknown

_1343370022.unknown

_1343370024.unknown

_1343370025.unknown

_1343370023.unknown

_1343370018.unknown

_1343370020.unknown

_1343370021.unknown

_1343370019.unknown

_1343369905.unknown

_1343369910.unknown

_1343370017.unknown

_1343369889.unknown

_1343369898.unknown

_1343369863.unknown

_1343369869.unknown

_1343369875.unknown

_1343369855.unknown

